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Following publication of the original article [1], the
authors noticed that the following errors were introduced
by pdf/html formatting issues. The original article has
been corrected. The publisher apologizes to the authors
and readers for these errors.

Page 9, first column:

The paragraph

“- 0 b(A): sec) by the local vascular network within/sec)
by the local vascular network within A during the previous
time interval £ - A7 —¢”

Should be replaced with

“- 0_b(A) : Oxygen supply rate (pmols/sec) by the
local vascular network within A during the previous time
interval t —Ar—¢t”

In the subsequent paragraph, i.e. the paragraph start-
ing starting with the phrase “ - gl_b,/(A): Glucose supply
rate ... 7,

the phrase “ interval-A7r — ¢ ” should be replaced with
“interval t —Ar—1t”

Page 11, second column:

The equation = l_zt(/\?]?% =p_ should be p=1-

60, — /))
lt(A)KATpA‘[ -2

In the subsequent sentence, i.e. “Since a,(f) is increas-
ing, B_ is actually ... ” the “S_” should be “ 5 ”.

In the subsequent paragraph (first bullet point), in the
sentence “ If S _ > 55, we have that ... ” the “ 5_” should
be “ 7.

In the subsequent paragraph (second bullet point), i.e.
“If B_ <o, we have that for each f € [max(B_, 51), o] it
holds that a,(5) 20. 7 all occurences of “ 5_ 7 should

be 11/3) n'
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In paragraph 11a, first line, “ a,(5) ” should be “ ag(f) ”.
Page 12, first column:
In the sentence “ Case 2.2.1. If B>, or B < fB, or

min(B, B,) < max(B_,3,), the analysis above implies
that ... ” the inequality 8> f, should be g > 8, and the

inequality min(B,B,) < max(B_,B,) should be min(B,
B>) < max(é’/))l)'

In the sentence “ Case 2.2.2. If B< 35, B3, and min(f,
By)= max(B-,B,)...” the inequality < 8, should be S <3,
and the inequality min(B,B,)> max(B_,f3,) should be

Wlil’l(ﬁ,/jz) 2 Wlax(évﬁl) :

In the same paragraph, the mathematical expression
el max(B-,p,), min(B,B,)] should be fe] max(é,/)’l),
min(, B,)]

Page 12, second column:
In the sentence “ Again, we pick a random f in [ max(_,
B,), min(B,f3,)].” the mathematical expression | max(B-_,

B1): min(ﬁ,ﬁz)] should be | max(é,/)’l), min(ﬁ,/)’z)]
Page 14, second column:
The equations

ob masyisr(A) = (1-f,(L(A) ne(A)v,
Towe(A) £,(1(A) ney(4),
nn(A)ve)ob mas,(A)

gl masyiar(A4) = (1~f,(L(A), nci(A)v,
Twe(A)f, (1(A), ner (A),

nny(A))ve)-glb max,(A)
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should be
0_b-mazs4:(A) = (1, (le(A), nc(A))v,
owe(A) £, (L(A), ney(A),
1y (A))e)-0_b_max,(A)
gl-b-mae,ar(A) = (1=, (l(A), ne (A))v,
swe(A)f, (1(A), ner(A),

nn(A))v,)-gl-b_max,(A).

The equations
ob max, 4r(A) = (1-f,(L(A), nc,(A))rsv,
+swi(A) fo(l(A), nc,(A),
nny(A))rave)-ob max,(A)
glb masy:s1(A) = (1=, (1:(A), nei(A))rav,
+swi(A)f(I(A), ne(A),

nng(A))rave)glb max,(A)
should be

0-b-max,.45(A) = (1-f,(L(A), neci(A))rsv,
+swi(A) fo(l(A), ne(A),
11, (A))rave)-o_b_max,(A)

gl-b-max, 4:(A) = (1-f,(I:(A), ncy(A))rav,
+swi(A)f (I(A), ne.(A),

nng(A))rav,)-gl-b_max;(A)

Page 15, first column:
The equations

ob max;(A) = QM

i),
o) M—lt(A)—njc\j[(A)—nm(A) m)
ob mazx,(A)

el s ar(4) = (1-4E 1A,

o) M—lt(A)—njc\jI(A)—nnt(A) mg)
glb max,(A)

should be

Page 2 of 2

o-b_max, 4:(A) = <1— Miwmvr

+swy(A)

M-1:(A)-nc;(A)-nn(A) v )
M e

0-b_max;(A)
I1(A) + nc(A) v,
M

M-1;(A)-nc,(A)-nn(A)
M Y’4Ve)

gl-b_max, 4, (A) = (1—

+swy(A)

-gl_-b_max(A)

Page 15, second column:
The equations

ob max, ar(A) = <1—Www
swi(A) M—l[(A)fnjc\jI(A)—nnt(A) ’”4Ve>
-0b max,(A)
glb max 4, (A) = (1_M73W
M
sowa) MDA )
glb max(A)
Should be
0-b_max, . (A) = (1-%,314
Lswy(A) M*lt(A)—njc\jI(A)—nnt(A) V4Ve>
-0-b_max,(A)
glb_maxy. 4 (A) = (PWWV
Fswi(A) M—l[(A)—nj\;[(A)—nnt(A) V4Ve)

gl_b_max,(A)
The second equation appearing in this column, i.e.
8l-biiar(A) = By b max,.ana)( 8l-bs(A)
+r2((glo-gli(A) ) /A1) )
Should be
8lbeiar(A) = By b max,, s (a)( 8l-bi(A)
+r2((go-gl,(A) ) /A1) )
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